

1.54
1.1

$$\begin{cases} x^2 + 2xy + y^2 = \frac{9}{4} \\ x^2 - 4xy + y^2 = -\frac{3}{4} \end{cases}$$

$$x = yt \quad \text{p.3)$$

$$\begin{cases} y^2 t^2 + 2y^2 t + y^2 = \frac{9}{4} \\ y^2 t^2 - 4y^2 t + y^2 = -\frac{3}{4} \end{cases}$$

$$\begin{cases} y^2(t^2 + 2t + 1) = \frac{9}{4} \\ y^2(t^2 - 4t + 1) = -\frac{3}{4} \end{cases}$$

(y to) is als akurasi ak p.3)

$$\frac{t^2 + 2t + 1}{t^2 - 4t + 1} = -3$$

$$t^2 + 2t + 1 = -3t^2 + 12t - 3$$

$$4t^2 - 10t + 4 = 0$$

$$t = 2 \rightarrow y = \pm \frac{1}{2} \rightarrow (1, \frac{1}{2}) \quad (-1, -\frac{1}{2})$$

$$t = \frac{1}{2} \rightarrow y = \pm 1 \rightarrow (\frac{1}{2}, 1) \quad (-\frac{1}{2}, -1)$$